STATION 1
VOCABULARY

Make sure you know what each of these words mean. If you
know, check the box. If you don’t, ask someone in your group and
write down the definition

[ Amino acid Bwi ldiv\a block € pootein
[0 Asexual reproduction Tldgaa() rcmdo;ﬁm that requires snly Ol farm\'
O Binary fission Type o asexval eprduchion that occu in bacten'a

O Blastocyst A set of colls that is created thoough mitosis abrer “z‘iS"& r‘;ul

i : ! 0
[ Budding Tue¢ gf g‘&*&ﬂfw‘vﬁm a call audy o bud Hat pinches

O Cell Cycle p sedes of evurts Bor call fepndockion (mfcrp\mx, wiosis , evjtokinesis)
[ Centromere Liaks —\W & pair oA sister chromarials
[ Chromatid One ha€ of o eplicated chomossme

O Chromatin Condensed forn of DNA

0 Chromosome Condensed Qe of Choatin (A ‘MJ DANA melecole)
[ Daughter cell Culls that result fom Tne division of @ povent call

[ Diploid contains peiced chromosomes

[IDNA o wmolecule that contaias the goeh'c ode Er oganisms

O Embryonic stage Gest 8 wesks of an o“’&‘g\’ d‘.w.lapx‘mi alter (\lrﬁh'u\ﬁm\
[ Fertilization Wher ¥t
[ Fetal stage  [ast 30 witsks
[J Fragmentation ‘l’tﬁ%ﬂ%ﬁf{“‘i ';:\’vf: o
[0 Gametes An ogarism’s @preduckive culls

O Grafting Type & orv€icial vegerative fopagation

[ Haploid Has a Single stt of chomossmes (hall e # of fequler calls)
O] Meiosis Tuge o Ql division o predoce goncies

] Mitosis T‘GP"’P oll didisim to Pmlua. identical davante calls

O Nucleotide Buildieg Mock ob PNA
[ Parent cell A cull that con divide ints Q¢ dﬂua'm’:r cellg
[ Sexual reproduction Tupe o repoduction that equires 2 parests
[ Spindle fibre Stvctue i o call used do emve chromoseme s
[ Spores T\w.v(’ (tgoductive  CL Haat Can dwrtlop ints a newd inds idual
[ Vegetative Propagation Typt A asuvsl Fepedockion wher the ots, stems
O Zygote 0C \eoawts of an exisbne plart g5 dats o
A Ol frak is Rroed abler o gpeenn 0w ?lam
cot & eaq e Quse theie aucles
e
“1ottod o e o“‘srn‘,n'

A pePs‘m‘nj duelopmert

male & Qmale goove tes Tuse™Hheie qudel fogether o crtate a zygate

duction wher an 9ganise, breaks ints 2+ parts

STATION 2
DNA

What does the acronym ‘DNA’ stand for?

7COXﬂﬁb°% Muo\dc Acm\

What is the complimentary base pair for the following
strand of DNA?

ACTGATGGCGAT
T6ACTACCGCTA

Draw and label a nucleotide.

\nbs\)\r\zﬁe_
Iy

(;)eoxﬁn‘box
S\Aﬁw
What is the role and purpose of DNA?

- Shets twe %u\a,ho infbcaafion ok o O%D\A’.am
-The codeis wsd 10 ereatk ovmine acids g F/v\-c);\;



STATION 3 STATION 4

ASEXUAL REPRODUCTION CELL CYCLE
1. What are the advantages of asexual reproduction? 1. Identify the three main stages of the cell cycle.
- 0Ny L parat Needed | aerphast
- 1+ requirts less gy Mitosts
) Pask Ct@«ahmsis
2. Whatare t.he disadvantages of asexual 2. ldentify which phase of the cell cycle each of the
reproduction? following statements is describing:
- H’ (;rta(-(s Nlo g}UULHL vanaton a. DNA condenses into chromosomes
G less divessity witin o Poophast
Popu\&bo n b. Cell grows and develops

3. Identify how the following organisms are able to
asexually reproduce:
a. Bacteria: B (\ou\3 (\Issim

'M’Uphq&t-

c¢. Nuclear membrane reappears around the

b. Yeast B chromosomes
. Yeast: Budd,
" Telophasc
c. Starfish: F Yok
ofis
mﬁM-Ul " d. DNA is copied
d. Mold: §porc. formatson
y o )/H'er?h asc
e. Strawberries: A <
Vﬁgﬁah v ?DPG%&'\\D/\ e. Chromosomes line up across the middle of the
4. Describe what would happen to a population that cell
reproduces through asexual reproduction if a new MQPM ast
disease were to enter into the population.
The ?D(M\o&w\ Mm& ot bl able > (\/‘qh(‘ ”op f.  Duplicated chromosomes are pulled apart to the
‘PVUL & stost opposite ends of the cell

b Could resutt in e eatict populasion 1o
\?a w\\mx ouk 0y hey e all qumnuj
hvcal

Ana Pha?t_



STATION 5
SEXUAL REPRODUCTION

1. Determine how many chromosomes are in the gametes

and body cells of the following organisms:

Number of Number of
Organism | chromosomes in the chromosomes in the
gametes body cells
Dog 29 78
Housefly b 12
Cow 30 b0
Deer 35 70

2. What process must cells undergo in order to produce
gametes?

Meioas

3. Label the following diagram with the following terms:
sperm cell, egg cell, zygote, haploid, diploid, maternal
chromosome, paternal chromosome
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STATION 6
MEIOSIS

1. Which stage of meiosis does each of the following
statements describe?
a. Nuclear membrane starts to disappear and
homologous chromosomes pair

P(D()\aax 1
b. DNA condenses into chromosomes
Paophase I

c. Two nuclei are formed

Telophase I

d. Chromosomes separate and move to opposite
ends of the cell

fraaphese T

e. Homologous chromosomes line up in two lines in
the middle of the cell

Metaphase I

f. DNA exists as chromosomes but not as
homologous pairs

Paphase. T
2. In order for chromosomes to move, they need help from
structures in the cell.
a. Which structure helps these chromosomes move
in the cell?

Spndle Lbees

b. Where do these structures attach to on the
chromosome?

00 the Chomosome's  catmmece

sistes
/l oMo dg

}\/H Certromen

3. What is the end result of meiosis?

4 drifeut h'i[:lo‘m\
ljmukﬂb



